SOME HERMITE-HADAMARD TYPE INEQUALITIES FOR FUNCTIONS WHOSE DERIVATIVES ARE QUASI-CONVEX

B. MEFTAH⁽¹⁾, M. MERAD⁽²⁾ AND A. SOUAHI⁽³⁾

ABSTRACT. In this paper, we establish new Hermite-Hadamard's inequalities using a new identity for parameter functions via quasi-convexity. Several known results are derived. Applications to special means are also given.

1. Introduction

A function $f: I \subset \mathbb{R} \to \mathbb{R}$ is said to be convex on I, where I is a nonempty interval of real numbers, if

$$f(tx + (1-t)y) \le tf(x) + (1-t)f(y)$$

holds for all $x, y \in I$ and $t \in [0, 1]$ (see [12]).

If $f: I \subset \mathbb{R} \to \mathbb{R}$ is a convex function on $[a, b] \subset I$ such that a < b, then

(1.1)
$$f(\frac{a+b}{2}) \le \frac{1}{b-a} \int_{a}^{b} f(t)dt \le \frac{f(a)+f(b)}{2}.$$

The above inequality is known in the literature as Hermite-Hadamard's inequality.

Over the last century, inequality (1.1) has not ceased to draw the attention of researchers, various generalizations, refinements, extensions and variants have appeared

 $^{2000\} Mathematics\ Subject\ Classification.\ 26D15,\ 26D20,\ 26A51.$

Key words and phrases. integral inequality, quasi-convex function, Hölder inequality, power mean inequality.

Copyright © Deanship of Research and Graduate Studies, Yarmouk University, Irbid, Jordan.

Received: March 3, 2018 Accepted: Dec. 13, 2018 .

in the literature, one can mention [3, 4, 5, 6, 7, 8, 10, 11, 13, 14, 15, 16] and references therein.

We also recall that a function $f:I\subset\mathbb{R}\to\mathbb{R}$ is said to be quasi-convex on I, if

$$f(tx + (1-t)y) \le \max\{f(x), f(y)\}\$$

holds for all $x, y \in I$ and all $t \in [0, 1]$ (see [9]).

We note that the concept of quasi-convexity represents a generalization of the concept of classical convexity.

The famous Hölder's inequality can be stated as follows: for continuous functions $f, g : [a, b] \to \mathbb{R}$, we have

$$\int_{a}^{b} f(t)g(t) dt \le \left(\int_{a}^{b} f^{p}(t)dt\right)^{\frac{1}{p}} \left(\int_{a}^{b} g^{q}(t)dt\right)^{\frac{1}{q}},$$

where $p, q \ge 1$ such that $\frac{1}{q} + \frac{1}{p} = 1$.

In what follows L[a, b] represents the space of the integrable functions.

Recently, Alomari et al. [2] established the following Hadamard-type inequalities for quasi-convex functions

Theorem 1.1. Let $f: I \subset [0, \infty) \to \mathbb{R}$ be a differentiable mapping on I° such that $f' \in L[a,b]$, where $a,b \in I$ with a < b. If |f'| is quasi-convex on [a,b], then the following inequality holds:

$$\left| \frac{f(a)+f(b)}{2} - \frac{1}{b-a} \int_{a}^{b} f(t)dt \right| \leq \frac{b-a}{8}$$

$$\times \left(\sup \left\{ \left| f'(a) \right|, \left| f'(\frac{a+b}{2}) \right| \right\} + \sup \left\{ \left| f'(\frac{a+b}{2}) \right|, \left| f'(b) \right| \right\} \right).$$

Theorem 1.2. Let $f: I \subset [0, \infty) \to \mathbb{R}$ be a differentiable mapping on I° such that $f' \in L[a,b]$, where $a,b \in I$ with a < b. If $|f'|^p$ is quasi-convex on [a,b], such that q > 1

with $\frac{1}{q} + \frac{1}{p} = 1$, then the following inequality holds:

$$\left| \frac{f(a) + f(b)}{2} - \frac{1}{b - a} \int_{a}^{b} f(t) dt \right| \leq \frac{b - a}{4(p+1)^{\frac{1}{p}}} \times \left(\left(\sup\left\{ \left| f'(a) \right|^{q}, \left| f'(\frac{a+b}{2}) \right|^{q} \right\} \right)^{\frac{1}{q}} + \left(\sup\left\{ \left| f'(\frac{a+b}{2}) \right|^{q}, \left| f'(b) \right|^{q} \right\} \right)^{\frac{1}{q}} \right).$$

Theorem 1.3. Let $f: I \subset [0, \infty) \to \mathbb{R}$ be a differentiable mapping on I° such that $f' \in L[a,b]$, where $a,b \in I$ with a < b. If $|f'|^p$ is quasi-convex on [a,b], such that $q \geq 1$, then the following inequality holds:

$$\left| \frac{f(a) + f(b)}{2} - \frac{1}{b - a} \int_{a}^{b} f(t) dt \right| \leq \frac{b - a}{8}$$

$$\times \left(\left(\sup \left\{ \left| f'(a) \right|^{q}, \left| f'(\frac{a + b}{2}) \right|^{q} \right\} \right)^{\frac{1}{q}} + \left(\sup \left\{ \left| f'(\frac{a + b}{2}) \right|^{q}, \left| f'(b) \right|^{q} \right\} \right)^{\frac{1}{q}} \right).$$

Yildiz et al. [17] gave the following generalizations of the above results

Theorem 1.4. Let $f: I \subset [0, \infty) \to \mathbb{R}$ be a differentiable mapping on I° such that $f' \in L[a,b]$, where $a,b \in I$ with a < b. If |f'| is quasi-convex on [a,b], then the following inequality holds:

$$\left| \frac{\frac{(b-x)f(b)+(x-a)f(a)}{b-a} - \frac{1}{b-a} \int_{a}^{b} f(t)dt}{\int_{a}^{b} f(t)dt} \right| \le \left(\frac{\frac{(x-a)^{2}}{2(b-a)} \max\left\{ |f'(a)|, |f'(x)| \right\} + \frac{(b-x)^{2}}{2(b-a)} \max\left\{ |f'(x)|, |f'(b| \right\} \right).$$

Theorem 1.5. Let $f: I \subset [0, \infty) \to \mathbb{R}$ be a differentiable mapping on I° such that $f' \in L[a,b]$, where $a,b \in I$ with a < b. If $|f'|^p$ is quasi-convex on [a,b], such that q > 1 with $\frac{1}{q} + \frac{1}{p} = 1$, then the following inequality holds:

$$\left| \frac{\frac{(b-x)f(b)+(x-a)f(a)}{b-a} - \frac{1}{b-a} \int_{a}^{b} f(t)dt}{\int_{a}^{b} \left(\left(\frac{(x-a)^{2}}{(b-a)(p+1)^{\frac{1}{p}}} \left(\max\left\{ \left| f'(a) \right|^{q}, \left| f'(x) \right|^{q} \right\} \right)^{\frac{1}{q}} \right) + \frac{(b-x)^{2}}{(b-a)(p+1)^{\frac{1}{p}}} \left(\max\left\{ \left| f'(x) \right|^{q}, \left| f'(b) \right|^{q} \right\} \right)^{\frac{1}{q}} \right).$$

Theorem 1.6. Let $f: I \subset [0, \infty) \to \mathbb{R}$ be a differentiable mapping on I° such that $f' \in L[a,b]$, where $a,b \in I$ with a < b. If $|f'|^p$ is quasi-convex on [a,b], such that $q \geq 1$, then the following inequality holds:

$$\left| \frac{\frac{(b-x)f(b)+(x-a)f(a)}{b-a} - \frac{1}{b-a} \int_{a}^{b} f(t)dt}{\int_{a}^{b} f(t)dt} \right| \le \left(\frac{\frac{(x-a)^{2}}{2(b-a)} \left(\max\left\{ |f'(a)|^{q}, |f'(x)|^{q} \right\} \right)^{\frac{1}{q}} + \frac{\frac{(b-x)^{2}}{2(b-a)} \left(\max\left\{ |f'(x)|^{q}, |f'(b)|^{q} \right\} \right)^{\frac{1}{q}} \right)}{\int_{a}^{b} f(t)dt} \right|$$

Motivated by the results obtaind by [1, 2, 17], in this paper, we establish new Hermite-Hadamard inequalities using a new identity for parameter functions via quasi-convexity. Several known results are derived. Applications to special means are also given.

2. Main results

We first prove the following identity

Lemma 2.1. Let $f:[a,b] \to \mathbb{R}$ be a differentiable mapping on [a,b]. Then for any $\lambda \in [\frac{1}{2},1]$, one has the equality

$$\frac{x-a}{b-a}f(\lambda a + (1-\lambda)b) + \frac{b-x}{b-a}f((1-\lambda)a + \lambda b) - \frac{1}{b-a}\int_{a}^{b}f(t)dt$$

(2.1)
$$= \frac{1}{b-a} \int_{a}^{b} k(x,t) f'(t)dt,$$

where

(2.2)
$$k(x,t) = \begin{cases} t - a & \text{if } t \in [a, \lambda a + (1 - \lambda) b) \\ t - x & \text{if } t \in [\lambda a + (1 - \lambda) b, (1 - \lambda) a + \lambda b) \\ t - b & \text{if } t \in [(1 - \lambda) a + \lambda b, b], \end{cases}$$

and $x \in [\lambda a + (1 - \lambda) b, (1 - \lambda) a + \lambda b]$.

Proof. by integration by parts, we have

(2.3)
$$I_{1} = \frac{1}{b-a} \int_{a}^{\lambda a + (1-\lambda)b} (t-a) f'(t) dt = (1-\lambda) f(\lambda a + (1-\lambda)b)$$
$$-\frac{1}{b-a} \int_{a}^{\lambda a + (1-\lambda)b} f(t) dt$$

and

$$I_2 = \frac{1}{b-a} \int_{\lambda a + (1-\lambda)b}^{(1-\lambda)a + \lambda b} (t-x) f'(t) dt = \left(\lambda - \frac{x-a}{b-a}\right) f((1-\lambda)a + \lambda b)$$

$$(2.4) \qquad + \left(\lambda - \frac{b-x}{b-a}\right) f(\lambda a + (1-\lambda)b) - \frac{1}{b-a} \int_{\lambda a+(1-\lambda)b}^{(1-\lambda)a+\lambda b} f(t)dt,$$

and

(2.5)
$$I_{3} = \frac{1}{b-a} \int_{(1-\lambda)a+\lambda b}^{b} (t-b) f'(t)dt = (1-\lambda) f((1-\lambda)a + \lambda b)$$
$$-\frac{1}{b-a} \int_{(1-\lambda)a+\lambda b}^{b} f(t)dt.$$

Adding (2.3)-(2.5), we get the desired inequality.

Theorem 2.1. Let $f:[a,b] \to \mathbb{R}$ be a differentiable mapping on [a,b] such that $f' \in L([a,b])$. If |f'| is quasi-convex, then the following inequality

$$\left| \frac{1}{b-a} \int_{a}^{b} f(t)dt - \left(\frac{x-a}{b-a} f(\lambda a + (1-\lambda)b) + \frac{b-x}{b-a} f((1-\lambda)a + \lambda b) \right) \right|$$

$$\leq \frac{b-a}{2} \left((1-\lambda)^{2} \max \left\{ |f'(a)|, |f'(\lambda a + (1-\lambda)b)| \right\} + \left(\lambda - \frac{b-x}{b-a} \right)^{2} \max \left\{ |f'(\lambda a + (1-\lambda)b)|, |f'(x)| \right\} + \left(\lambda - \frac{x-a}{b-a} \right)^{2} \max \left\{ |f'(x)|, |f'((1-\lambda)a + \lambda b)| \right\}$$

$$(2.6) + (1 - \lambda)^2 \max\{|f'((1 - \lambda) a + \lambda b)|, |f'(b)|\}\}$$

holds for all $x \in [\lambda a + (1 - \lambda) b, (1 - \lambda) a + \lambda b]$ with $\lambda \in \left[\frac{1}{2}, 1\right]$.

Proof. From Lemma 2.1, and property of modulus, we have

$$\left| \frac{1}{b-a} \int_{a}^{b} f(t)dt - \left(\frac{x-a}{b-a} f(\lambda a + (1-\lambda)b) + \frac{b-x}{b-a} f((1-\lambda)a + \lambda b) \right) \right|$$

$$= \frac{1}{b-a} \left| \int_{a}^{b} k(x,t) f'(t)dt \right|$$

$$\leq \frac{1}{b-a} \left(\int_{a}^{\lambda a + (1-\lambda)b} (t-a) |f'(t)| dt + \int_{\lambda a + (1-\lambda)b}^{x} (x-t) |f'(t)| dt \right)$$

$$+ \int_{x}^{(1-\lambda)a + \lambda b} (t-x) |f'(t)| dt + \int_{(1-\lambda)a + \lambda b}^{b} (b-t) |f'(t)| dt \right)$$

$$= (b-a) \left((1-\lambda)^{2} \int_{0}^{1} \alpha |f'((1-\alpha)a + \alpha(\lambda a + (1-\lambda)b))| d\alpha + (\lambda - \frac{b-x}{b-a})^{2} \int_{0}^{1} (1-\alpha) |f'(((1-\alpha)(\lambda a + (1-\lambda)b) + \alpha x))| d\alpha + (\lambda - \frac{x-a}{b-a})^{2} \int_{0}^{1} \alpha |f'((1-\alpha)x + \alpha((1-\lambda)a + \lambda b))| d\alpha + (1-\lambda)^{2} \int_{0}^{1} (1-\alpha) |f'((1-\alpha)((1-\lambda)a + \lambda b) + \alpha b)| d\alpha \right).$$

$$(2.7)$$

Using the quasi-convexity of |f'|, we get

$$\left| \frac{1}{b-a} \int_{a}^{b} f(t)dt - \left(\frac{x-a}{b-a} f(\lambda a + (1-\lambda)b) + \frac{b-x}{b-a} f((1-\lambda)a + \lambda b) \right) \right|$$

$$\leq \frac{b-a}{2} \left((1-\lambda)^2 \max \left\{ |f'(a)|, |f'(\lambda a + (1-\lambda)b)| \right\} + \left(\lambda - \frac{b-x}{b-a} \right)^2 \max \left\{ |f'(\lambda a + (1-\lambda)b)|, |f'(x)| \right\} + \left(\lambda - \frac{x-a}{b-a} \right)^2 \max \left\{ |f'(x)|, |f'((1-\lambda)a + \lambda b)| \right\} + (1-\lambda)^2 \max \left\{ |f'((1-\lambda)a + \lambda b)|, |f'(b)| \right\},$$

which is the desired result.

Corollary 2.1. In Theorem 2.1, if we choose $x = \frac{a+b}{2}$ and $\lambda = \frac{2}{3}$, we obtain the following two-point open Newton-Cotes inequality

$$\left| \frac{1}{b-a} \int_{a}^{b} f(t)dt - \frac{f\left(\frac{2a+b}{3}\right) + f\left(\frac{a+2b}{3}\right)}{2} \right| \le \frac{b-a}{72}$$

$$\times \left(4 \max\left\{ |f'(a)|, \left| f'\left(\frac{2a+b}{3}\right) \right| \right\} + \max\left\{ \left| f'\left(\frac{2a+b}{3}\right) \right|, \left| f'\left(\frac{a+b}{2}\right) \right| \right\}$$

$$+ \max\left\{ \left| f'\left(\frac{a+b}{2}\right) \right|, \left| f'\left(\frac{a+2b}{3}\right) \right| \right\} + 4 \max\left\{ \left| f'\left(\frac{a+2b}{3}\right) \right|, \left| f'(b) \right| \right\} \right).$$

Remark 1. Theorem 2.1 will be reduced to Theorem 6 from [17], if we take $\lambda = 1$. Moreover if we choose $x = \frac{a+b}{2}$ we obtain Theorem 2.2 from [2]. And if we take $\lambda = \frac{1}{2}$ we obtain Theorem 7 from [1].

Theorem 2.2. Let $f:[a,b] \to \mathbb{R}$ be a differentiable mapping on [a,b] such that $f' \in L([a,b])$. If $|f'|^q$ (q > 1) is quasi-convex, then the following inequality

$$\left| \frac{1}{b-a} \int_{a}^{b} f(t)dt - \left(\frac{x-a}{b-a} f(\lambda a + (1-\lambda)b) + \frac{b-x}{b-a} f((1-\lambda)a + \lambda b) \right) \right|$$

$$\leq \frac{b-a}{2} \left((1-\lambda)^{2} \left(\left(\max\left\{ |f'(a)|^{q}, |f'(\lambda a + (1-\lambda)b)|^{q} \right\} \right) \right)^{\frac{1}{q}} + \left(\lambda - \frac{b-x}{b-a} \right)^{2} \left(\left(\max\left\{ |f'(\lambda a + (1-\lambda)b)|^{q}, |f'(x)|^{q} \right\} \right) \right)^{\frac{1}{q}} + \left(\lambda - \frac{x-a}{b-a} \right)^{2} \left(\left(\max\left\{ |f'(x)|^{q}, |f'((1-\lambda)a + \lambda b)|^{q} \right\} \right) \right)^{\frac{1}{q}} + (1-\lambda)^{2} \left(\left(\max\left\{ |f'((1-\lambda)a + \lambda b)|^{q}, |f'(b)|^{q} \right\} \right) \right)^{\frac{1}{q}} \right)$$

$$(2.8)$$

 $holds \ for \ all \ x \in \left[\lambda a + (1-\lambda) \, b, (1-\lambda) \, a + \lambda b\right] \ with \ \lambda \in \left[\tfrac{1}{2}, 1\right].$

Proof. From Lemma 2.1, property of modulus, and power mean inequality, we have

$$\left| \frac{1}{b-a} \int_{a}^{b} f(t)dt - \left(\frac{x-a}{b-a} f(\lambda a + (1-\lambda)b) + \frac{b-x}{b-a} f((1-\lambda)a + \lambda b) \right) \right|$$

$$= (b-a) \left((1-\lambda)^{2} \int_{0}^{1} \alpha \left| f'((1-\alpha)a + \alpha(\lambda a + (1-\lambda)b)) \right| d\alpha$$

$$+ \left(\lambda - \frac{b-x}{b-a} \right)^{2} \int_{0}^{1} (1-\alpha) \left| f'(((1-\alpha)(\lambda a + (1-\lambda)b) + \alpha x)) \right| d\alpha$$

$$+ \left(\lambda - \frac{x-a}{b-a} \right)^{2} \int_{0}^{1} \alpha \left| f'((1-\alpha)x + \alpha((1-\lambda)a + \lambda b)) \right| d\alpha$$

$$+ (1-\lambda)^{2} \int_{0}^{1} (1-\alpha) \left| f'((1-\alpha)((1-\lambda)a + \lambda b) + \alpha b) \right| d\alpha$$

$$\leq \frac{b-a}{2^{1-\frac{1}{q}}} \left((1-\lambda)^{2} \left(\int_{0}^{1} \alpha \left| f'((1-\alpha)a + \alpha(\lambda a + (1-\lambda)b) + \alpha x) \right| \right)^{\frac{1}{q}} d\alpha \right)^{\frac{1}{q}}$$

$$+ \left(\lambda - \frac{b-x}{b-a} \right)^{2} \left(\int_{0}^{1} \alpha \left| f'((1-\alpha)((1-\alpha)(\lambda a + (1-\lambda)b) + \alpha x) \right| \right)^{\frac{1}{q}} d\alpha$$

$$+ (\lambda - \frac{x-a}{b-a})^{2} \left(\int_{0}^{1} \alpha \left| f'((1-\alpha)x + \alpha((1-\lambda)a + \lambda b) + \alpha b) \right| d\alpha \right)^{\frac{1}{q}}$$

$$+ (\lambda - \frac{x-a}{b-a})^{2} \left(\int_{0}^{1} \alpha \left| f'((1-\alpha)x + \alpha((1-\lambda)a + \lambda b) + \alpha b) \right| d\alpha \right)^{\frac{1}{q}}$$

$$(2.9) \qquad + (1-\lambda)^{2} \left(\int_{0}^{1} (1-\alpha) \left| f'((1-\alpha)((1-\lambda)a + \lambda b) + \alpha b) \right| d\alpha \right)^{\frac{1}{q}}$$

Using the quasi-convexity of $|f'|^q$, we obtain

$$\left| \frac{1}{b-a} \int_{a}^{b} f(t)dt - \left(\frac{x-a}{b-a} f(\lambda a + (1-\lambda)b) + \frac{b-x}{b-a} f((1-\lambda)a + \lambda b) \right) \right|$$

$$\leq \frac{b-a}{2} \left((1-\lambda)^{2} \left(\left(\max\left\{ |f'(a)|^{q}, |f'(\lambda a + (1-\lambda)b)|^{q} \right\} \right) \right)^{\frac{1}{q}} + \left(\lambda - \frac{b-x}{b-a} \right)^{2} \left(\left(\max\left\{ |f'(\lambda a + (1-\lambda)b)|^{q}, |f'(x)|^{q} \right\} \right) \right)^{\frac{1}{q}} + \left(\lambda - \frac{x-a}{b-a} \right)^{2} \left(\left(\max\left\{ |f'(x)|^{q}, |f'((1-\lambda)a + \lambda b)|^{q} \right\} \right) \right)^{\frac{1}{q}} + (1-\lambda)^{2} \left(\left(\max\left\{ |f'((1-\lambda)a + \lambda b)|^{q}, |f'(b)|^{q} \right\} \right) \right)^{\frac{1}{q}} \right),$$

which is the desired result.

Corollary 2.2. In Theorem 2.2, if we choose $x = \frac{a+b}{2}$ and $\lambda = \frac{2}{3}$, we obtain the following two-point open Newton-Cotes inequality

$$\left| \frac{1}{b-a} \int_{a}^{b} f(t)dt - \frac{1}{2} \left(f(\frac{2a+b}{3}) + f(\frac{a+2b}{3}) \right) \right| \leq \frac{b-a}{72}$$

$$\times \left(4 \left(\left(\max\left\{ |f'(a)|^{q}, \left| f'(\frac{2a+b}{3}) \right|^{q} \right\} \right) \right)^{\frac{1}{q}} + \left(\left(\max\left\{ \left| f'(\frac{2a+b}{3}) \right|^{q}, \left| f'(\frac{a+b}{2}) \right|^{q} \right\} \right) \right)^{\frac{1}{q}} + 4 \left(\left(\max\left\{ \left| f'(\frac{a+2b}{3}) \right|^{q}, \left| f'(b) \right|^{q} \right\} \right) \right)^{\frac{1}{q}} \right).$$

Remark 2. Theorem 2.2 will be reduced to Theorem 8 from [17], if we take $\lambda = 1$. Moreover if we choose $x = \frac{a+b}{2}$ we obtain Theorem 2.4 from [2]. And if we take $\lambda = \frac{1}{2}$ we obtain Theorem 9 from [1].

Theorem 2.3. Let $f:[a,b] \to \mathbb{R}$ be a differentiable mapping on [a,b] such that $f' \in L([a,b])$. If $|f'|^q$ (q > 1) is quasi-convex, then the following inequality

$$\left| \frac{1}{b-a} \int_{a}^{b} f(t)dt - \left(\frac{x-a}{b-a} f(\lambda a + (1-\lambda)b) + \frac{b-x}{b-a} f((1-\lambda)a + \lambda b) \right) \right|$$

$$\leq \frac{b-a}{(1+p)^{\frac{1}{p}}} \left((1-\lambda)^{2} \left(\left(\max\left\{ |f'(a)|^{q}, |f'(\lambda a + (1-\lambda)b)|^{q} \right\} \right) \right)^{\frac{1}{q}} + \left(\lambda - \frac{b-x}{b-a} \right)^{2} \left(\left(\max\left\{ |f'(\lambda a + (1-\lambda)b)|^{q}, |f'(x)|^{q} \right\} \right) \right)^{\frac{1}{q}} + \left(\lambda - \frac{x-a}{b-a} \right)^{2} \left(\left(\max\left\{ |f'(x)|^{q}, |f'((1-\lambda)a + \lambda b)|^{q} \right\} \right) \right)^{\frac{1}{q}} + (1-\lambda)^{2} \left(\left(\max\left\{ |f'((1-\lambda)a + \lambda b)|^{q}, |f'(b)|^{q} \right\} \right) \right)^{\frac{1}{q}} \right)$$

$$(2.10)$$

holds for all $x \in [\lambda a + (1 - \lambda) b, (1 - \lambda) a + \lambda b]$ with $\lambda \in \left[\frac{1}{2}, 1\right]$, and $\frac{1}{q} + \frac{1}{p} = 1$.

Proof. From Lemma 2.1, property of modulus, Hölder inequality, and quasi-convexity of $|f'|^q$, we get

$$\begin{split} & \left| \frac{1}{b-a} \int_{a}^{b} f(t) dt - \left(\frac{x-a}{b-a} f(\lambda a + (1-\lambda) b) + \frac{b-x}{b-a} f((1-\lambda) a + \lambda b) \right) \right| \\ & = (b-a) \left((1-\lambda)^{2} \int_{0}^{1} \alpha \left| f'((1-\alpha) a + \alpha (\lambda a + (1-\lambda) b)) \right| d\alpha \\ & + (\lambda - \frac{b-x}{b-a})^{2} \int_{0}^{1} (1-\alpha) \left| f'(((1-\alpha) (\lambda a + (1-\lambda) b) + \alpha x)) \right| d\alpha \\ & + (\lambda - \frac{x-a}{b-a})^{2} \int_{0}^{1} \alpha \left| f'((1-\alpha) x + \alpha ((1-\lambda) a + \lambda b)) \right| d\alpha \\ & + (1-\lambda)^{2} \int_{0}^{1} (1-\alpha) \left| f'((1-\alpha) ((1-\lambda) a + \lambda b) + \alpha b) \right| d\alpha \\ & + (1-\lambda)^{2} \left(\int_{0}^{1} \left| f'((1-\alpha) a + \alpha (\lambda a + (1-\lambda) b)) \right|^{q} d\alpha \right) \right)^{\frac{1}{q}} \\ & + (\lambda - \frac{b-x}{b-a})^{2} \left(\int_{0}^{1} \left| f'((1-\alpha) (\lambda a + (1-\lambda) b) + \alpha x) \right| \right)^{q} d\alpha \right)^{\frac{1}{q}} \\ & + (\lambda - \frac{x-a}{b-a})^{2} \left(\int_{0}^{1} \left| f'((1-\alpha) x + \alpha ((1-\lambda) a + \lambda b)) \right|^{q} d\alpha \right)^{\frac{1}{q}} \\ & + (1-\lambda)^{2} \left(\int_{0}^{1} \left| f'((1-\alpha) ((1-\lambda) a + \lambda b) + \alpha b) \right|^{q} d\alpha \right)^{\frac{1}{q}} \\ & \leq \frac{b-a}{(1+p)^{\frac{1}{p}}} \left((1-\lambda)^{2} \left(\left(\max \left\{ \left| f'(a) \right|^{q}, \left| f'(\lambda a + (1-\lambda) b) \right|^{q} \right\} \right) \right)^{\frac{1}{q}} \end{split}$$

$$+ \left(\lambda - \frac{b-x}{b-a}\right)^{2} \left(\left(\max \left\{ |f'(\lambda a + (1-\lambda)b)|^{q}, |f'(x)|^{q} \right\} \right) \right)^{\frac{1}{q}}$$

$$+ \left(\lambda - \frac{x-a}{b-a}\right)^{2} \left(\left(\max \left\{ |f'(x)|^{q}, |f'((1-\lambda)a + \lambda b)|^{q} \right\} \right) \right)^{\frac{1}{q}}$$

$$+ (1-\lambda)^{2} \left(\left(\max \left\{ |f'((1-\lambda)a + \lambda b)|^{q}, |f'(b)|^{q} \right\} \right) \right)^{\frac{1}{q}} \right),$$

which is the desired result.

Corollary 2.3. In Theorem 2.3, if we choose $x = \frac{a+b}{2}$ and $\lambda = \frac{2}{3}$, we obtain the following two-point open Newton-Cotes inequality

$$\left| \frac{1}{b-a} \int_{a}^{b} f(t)dt - \frac{1}{2} \left(f(\frac{2a+b}{3}) + f(\frac{a+2b}{3}) \right) \right| \leq \frac{b-a}{36 \times (p+1)^{\frac{1}{p}}}$$

$$\times \left(4 \left(\left(\max\left\{ |f'(a)|^{q}, \left| f'(\frac{2a+b}{3}) \right|^{q} \right\} \right)^{\frac{1}{q}} + \left(\max\left\{ \left| f'(\frac{a+2b}{3}) \right|^{q}, \left| f'(b) \right|^{q} \right\} \right)^{\frac{1}{q}} \right)$$

$$+ \left(\max\left\{ \left| f'(\frac{2a+b}{3}) \right|^{q}, \left| f'(\frac{a+b}{2}) \right|^{q} \right\} \right)^{\frac{1}{q}} + \left(\max\left\{ \left| f'(\frac{a+b}{2}) \right|^{q}, \left| f'(\frac{a+2b}{3}) \right|^{q} \right\} \right)^{\frac{1}{q}} \right) .$$

Remark 3. Theorem 2.3 will be reduced to Theorem 7 from [17], if we take $\lambda = 1$. Moreover if we choose $x = \frac{a+b}{2}$ we obtain Theorem 2.3 from [2]. And if we take $\lambda = \frac{1}{2}$ we obtain Theorem 8 from [1].

3. Applications to special means

We recall the following means for positive real numbers α, β for $\alpha \neq \beta$, which are well known in the literature

The arithmetic mean: $A(\alpha, \beta) = \frac{\alpha + \beta}{2}$.

The generalized log-mean: $L_p(\alpha, \beta) = \left[\frac{\beta^{p+1} - \alpha^{p+1}}{(p+1)(\beta - \alpha)}\right]^{\frac{1}{p}}$ with $p \neq -1, 0$.

Proposition 3.1. Let a, b two real numbers with 0 < a < b, then the following inequality holds:

$$\left| L_4^4(a,b) - \frac{\left(\frac{2a+b}{3}\right)^4 + \left(\frac{a+2b}{3}\right)^4}{2} \right|$$

$$leq \frac{b-a}{9} \left(4A \left(\left(\frac{2a+b}{3}\right)^3, b^3 \right) + A \left(\left(\frac{a+b}{2}\right)^3, \left(\frac{a+2b}{3}\right)^3 \right) \right).$$

Proof. The proof is immediate from Theorem 2.1 with $x = \frac{a+b}{2}$ and $\lambda = \frac{2}{3}$, applied for $f(x) = \frac{1}{4}x^4$ with x > 0.

Proposition 3.2. Let a, b two real numbers with 1 < a < b, then for any q > 2, the following inequality holds:

$$\left| L_{\frac{2}{q}+1}^{\frac{2}{q}+1}(a,b) - A\left(a^{\frac{2}{q}+1},b^{\frac{2}{q}+1}\right) \right| \leq \frac{(q+2)(q-1)^{\frac{q-1}{q}}(b-a)}{2q(2q-1)^{\frac{q-1}{q}}} A\left(\left(\frac{a+b}{2}\right)^{\frac{2}{q}},a^{\frac{2}{p}}\right).$$

Proof. The proof is immediate from Theorem 1.3 with $x = \frac{a+b}{2}$ and $\lambda = 1$ applied for $f(x) = \frac{q}{q+2}x^{\frac{2}{q}+1}$, and x > 0.

References

- [1] M. Alomari, M. Darus, S. S. Dragomir, Inequalities of Hermite–Hadamard's type for functions whose derivatives absolute values are quasi-convex, *RGMIA* **12** (suppl. 14) (2009).
- [2] M. Alomari, M. Darus and U. S. Kirmaci, Refinements of Hadamard-type inequalities for quasiconvex functions with applications to trapezoidal formula and to special means. *Comput. Math. Appl.* 59 (2010), no. 1, 225–232.
- [3] R.-F. Bai, F. Qi and B.-Y. Xi, Hermite-Hadamard type inequalities for the m- and (α, m) logarithmically convex functions. *Filomat* **27** (2013), no. 1, 1–7.
- [4] P. Cerone, S. S. Dragomir and C. E. M. Pearce, A generalized trapezoid inequality for functions of bounded variation. *Turkish Journal of Mathematics*, **24** (2000), no. 2, 147-163.
- [5] F. Chen and S. Wu, Several complementary inequalities to inequalities of Hermite-Hadamard type for s-convex functions. J. Nonlinear Sci. Appl. 9 (2016), no. 2, 705–716.
- [6] S. S. Dragomir, P. Cerone, and A. Sofo, Some remarks on the trapezoid rule in numerical integration, *Indian J. Pure Appl. Math.*, 31 (2000), no. 5, 475-494.
- [7] S. S. Dragomir, On some new inequalities of Hermite-Hadamard type for *m*-convex functions. *Tamkang J. Math.* **33** (2002), no. 1, 55–65.
- [8] S. S. Dragomir, n-points inequalities of Hermite-Hadamard type for h-convex functions on linear spaces. Armen. J. Math. 8 (2016), no. 1, 38–57.
- [9] D. A. Ion, Some estimates on the Hermite-Hadamard inequality through quasi-convex functions.

 An. Univ. Craiova Ser. Mat. Inform. 34 (2007), 83–88.

- [10] U. S. Kirmaci and M. E. Özdemir, On some inequalities for differentiable mappings and applications to special means of real numbers and to midpoint formula. *Appl. Math. Comput.* **153** (2004), no. 2, 361–368.
- [11] B. Meftah and M. Merad, Hermite-Hadamard type inequalities for functions whose nth order of derivatives are s-convex in the second sense. Revista De Matemáticas De la Universidad del Atlántico Páginas. 4 (2017), no. 2, 87–99.
- [12] J. E. Pečarić, F. Proschanand Y. L. Tong, Convex functions, partial orderings, and statistical applications. *Mathematics in Science and Engineering*, 187. Academic Press, Inc., Boston, MA, 1992.
- [13] K.-L. Tseng, K.-C. Lee, and Y.-L. Lai, On two-point open Newton-Cotes quadrature formula for monotonic mappings and its applications. *Tamsui Oxf. J. Math. Sci.* 20 (2004), no. 2, 393–409.
- [14] K.-L. Tseng and S. R. Hwang, Some extended trapezoid-type inequalities and applications. Hacet. J. Math. Stat. 45 (2016), no. 3, 827–850.
- [15] B.-Y. and F. Qi, Some Hermite-Hadamard type inequalities for differentiable convex functions and applications. *Hacet. J. Math. Stat.* **42** (2013), no. 3, 243–257.
- [16] B.-Y. and F. Qi, Inequalities of Hermite-Hadamard type for extended s-convex functions and applications to means. J. Nonlinear Convex Anal. 16 (2015), no. 5, 873–890.
- [17] Ç.Yildiz, A.O. Akdemir and M. Avci, Some inequalities of Hermite-Hadamard type for functions whose derivatives absolute values are quasi-convex, arXiv preprint arXiv:1103.1968.
- (1) Laboratoire des télécommunications, Faculté des Sciences et de la Technologie, University of 8 May 1945 Guelma, P.O. Box 401, 24000 Guelma, Algeria.

E-mail address: badrimeftah@yahoo.fr

(2) DÉPARTEMENT DES MATHÉMATIQUES, FACULTÉ DES MATHÉMATIQUES, DE L'INFORMATIQUE ET DES SCIENCES DE LA MATIÈRE, UNIVERSITÉ 8 MAI 1945 GUELMA, ALGERIA.

E-mail address: mrad.meriem@gmail.com

(3) Laboratory of Advanced Materials, University of Badji Mokhtar-Annaba, P.O. Box 12, 23000 Annaba, Algeria

E-mail address: arsouahi@yahoo.fr